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The concept of *Associated dependent development’ was used by:
A)  Guntar Frank B)  Santos
C) Edward Said D) Cardoso

The non-competitive party system was divided into one party authoritarian, one
party pluralistic and one party totalitarian by:

A)  Alan Ball B) Maurice Duverger

C) Rajani Kothari D) La Palombara and Myron Weiner

Name associated with the concept ‘Relative Autonomy of State’:
A)  Lenin B)  Stalin C)  Gramsci D) Mao

The concept of General System Theory was first developed by:
A)  Ludwig Von Bertallanfy B) David Apter

C) Robert Merton D)  Talcott Parsons

Match List I with List I

List | List 11

a. Proletarian Internationalism 1. Charles Kindleberger
b. Political Realism 2. Morgenthau

c. Complex Interdependence 3. V. I Lenin

d. Hegemonic Stability Theory 4. Keohane and Nye

A) a-3,b-2,c-1,d-4 B) a-1,b-2c-3 d4

C) a2,b-3,c1,d4 D) a-3,b-2,c4,d-1

The provisions of the Constitution of India in which is the principle of
collective responsibility of Union Council of Ministers is enshrined:
A)  Atrticle 75(1) B)  Article 75 (2)

C)  Article 75 (3) D)  Article 75 (4)

Identify the correct statement with regard to the impeachment of the President

of the USA:

A)  President can be impeached only through a referendum

B)  President can be impeached only by the Senate

C) Impeachment process is initiated in the House of Representatives and
the Senate acts as trial chamber

D)  Proposal for impeachment is initiated in the Senate and the House of
Representatives acts as a trial chamber
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“Officials make work for each other”- Who made this remark?
A)  Parkinson B) Ramsay Muir
C)  Ducker D)  Gullick

Who among the following equated nationalism with ‘thoughtless
emotionalism’?
A)  M.N.Roy B) Ambedkar C)  Gramsci D) Lenin

Who among the following categorized the elements of Political Development
as Equality, Capacity, and Differentiation?

A)  James Coleman B) Lucian Pye

C) Almond D) Rostow

Behaviouralism was introduced in the study of Public Administration by:
A)  F. W. Taylor B) Elton Mayo

C)  Simon D) F. W.Riggs

The Preamble to the Constitution of India was termed as *Identity card of the
Constitution’by:

A)  N. A Palkhiwala B)  Jawaharlal Nehru

C) B.N.Rao D) K. T.Shah

The notion of ‘Organic Intellectual’ was expounded by:
A)  Althusser B)  Paulantzas C)  Gramsci D) Habermas

The demand for New International Economic Order (NIEO) was first made at
---- summit.

A)  Tehran B)  Algiers

C)  Durban D)  Kuala Lumpur

Assertion (A): Federalism is not dead in India
Reason (R): New Regions are constantly demanding statehood

A) Both A andR are true and R is the correct explanation of A

B) Both A and R are true but R is not the correct explanation of A
C) Aistrue butRis false

D) Aisfalse, butRis true

The role of pressure groups is limited to the welfare of:
A)  Marginalized sections of society

B)  All sections of society

C)  The members only

D)  Humanity as a whole
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Who among the following first initiated the study of state politics in India?
A) IgbalNarain B) Paul R Brass
C)  Stanley Kochanak D)  Myron Weiner

Which one of the following is the correct function of Staff Agency?
A)  Issuing orders to the subordinates

B)  Controlling the activities of the subordinates

C)  Advising the Chief Executive

D)  Providing Institutional Services

“The Tragedy of Commons’ is related to:

A)  War B)  Peace

C) Human Rights D)  Environment
Author of “Human Nature in Politics’:

A)  Max Weber B)  George Kateb
C)  Graham Wallas D)  Robert A Dhal

Which of the following statements is not true regarding Behaviouralism?

A)  Herbert Simon of Chicago University is rightly called the intellectual
father of behavioural movement

B) Behaviouralism is interdisciplinary in nature

C) It was a protest movement against traditional approaches.

D)  Behaviouralist research seeks to elevate the actual human being to the
centre of attention.

“Politics as struggle for power, as a psychological relation between those who
exercise it and over whom is exercised” is said by:

A) Karl Deutsch B) Hans J. Morgenthau

C) Robert A Dhal D)  Lasswell

The legitimate power is called:
A)  Authority B) Hegemony C) Influence D)  Dominance

The Transgender Persons (Protection of Rights) Act was passed in:

A) 2018 B) 2021 C) 2020 D) 2019
Which of the following is not correctly matched?

A) Politics of Developing Areas - Gabriel A Almond

B)  Mind and Society - Vilfredo Pareto

C)  Psychopathology of Politics - Karl Deutsch

D) Process of Government - Arthur F Bentley
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Who defined state as “an association which acting through law as promulgated
by a government endowed to this end with coercive power, maintains within a
community territorially demarcated the universal external conditions of social
order”?

A)  Willoughby B) Bluntschli C)  Phillimore D) Mac lver

Which of the following is not related with ‘Intellectual foundation stones’ of
Behaviouralism?

A)  Feed back B)  Quantification

C)  \Verification D) Integration

Assertion( A): State of Nature is a condition of war of every man against every
man. The state emerged to escape from the state of nature.

Reason (R): The function of the state provides peace and security to its

members.

A)  Aistrue butR is false.

B) Both A and R are true and R is the correct explanation of A.

C) Both A and R are true but R is not the correct explanation of A.

D) Both A andR are false.

Which of the following are correct about Rousseau’s concept of General Will?
1. It is absolute

2. Itis alienable

3. Itis infallible

4. It is non-conflictual with individual interest

A) land2only B) 2and4only
C) 1,3and4only D) 1,2,3and4

Author of ‘Identity: Contemporary Identity Politics and Struggle for
Recognition’:

A)  Rajni Kothari B) Rajiv Bhargava

C) Douglas Murray D)  Francis Fukuyama

Assertion (A): All political systems are independent of its external
environment.

Reason (R): Foreign policies are framed only by considering domestic
interest.

A)  AistruebutRis false

B) Both A and R are false

C) Both A and R are true but R is not the correct explanation of A
D) Both AandR are true and R is the correct explanation of A
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“A political system is a human community that successfully claims the
monopoly of the legitimate use of physical force within a given community”.
Whose definition is this?

A)  Max Weber B) David Easton

C) Morton Kaplan D)  Collin Cherry

Which of the following is not an input function?

A)  Rule adjudication B)  Political communication
C) Interest articulation D) Interest aggregation

The phrase ‘history is the graveyard of aristocracies’ is related to:
A)  Gaetano Mosca B)  Roberto Michels
C) Ortega Y Gasset D)  Vilfredo Pareto

The transmission of non- political attitudes which affect attitudes towards
analogous roles and objects in the political system is referred as----- political
socialisation.

A)  Specialised B) Latent

C)  Manifest D)  Synchronised

Who among the following expounded ‘Pluralist theory of Democracy’?
A)  Robert A Dhal B)  Richard Snyder

C)  Abraham Lincoln D) Hans Kelson

Assertion (A): Civil society movements form a collective behaviour to address
the multifarious social challenges.

Reason (R):  Civil Society movements always affiliated with political parties

A)  Both AandR are true

B) Both A and R are false

C) Both A and R are true but R is not the correct explanation of A

D)  Aistrue but R is not the correct explanation of A

The concept of “Circulation of elites’ is related to:
A)  G. Mosca B)  Ortega Y Gasset
C)  Vilfedo Pareto D)  Ernest Barker

The type of political culture in which people have little or no awareness of their
political system:
A)  Subject Political Culture B)  Parochial Political Culture

C)  Civic Culture D)  Fragmented Political Culture
The term “deliberative democracy’ was coined by:

A)  Joseph M Bassette B)  Dennis Thompson

C) Carlos Nino D)  John Gastil
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The process by which the individual learn and develops orientations to politics:
A)  Political Modernisation  B)  Political apathy
C)  Political correction D) Political socialisation

‘Political Development and Political Decay’ is a paper published in 1965 by:

A)  Leonardo Binder B) Myron Weiner

C) David Apter D)  Samuel P Huntington
Who called Plato as ‘“the first enemy of an open society’?

A) Karl Popper B)  William Ebenstein
C)  Thomas Carlyle D) Edmund Burke

Which of the following related to Robert Nozick are correct?
1. Author of ‘Anarchy State and Utopia’

2. Aright libertarian

3. Concept of minimal state

4. Entitlement theory of justice

A) land4only B) 2and3only
C) 2 and 4 only D) 1,2,3,and4

According to Aristotle, the perverted form of Polity is:
A)  Oligarchy B)  Aristocracy C) Democracy D)  Tyranny

Assertion A):  Social and geographical diversity of a large state cannot be
represented by one or two political parties.
Reason(R): Indian political system consists of numerous political parties.

A)  Aistrue but R is false

B)  Aistrue and R is the correct explanation of A

C)  Alstrue but R is not the correct explanation of A
D) Aisfalse but R is true

Which of the following is not related to Thomas Hobbes?
A)  Confessions B) De Cive C) De Corpore D)  Leviathan

Who said, ‘Better to be Socrates dissatisfied than a fool satisfied’?
A)  Jeremy Bentham B)  Jean Bodin
C) J.S Mill D) V.1. Lenin

“Being all equal and independent, no one ought to harm another in his life,
health, liberty or possessions”. Who said it?

A)  Rousseau B)  Machiavelli
C)  Jean Bodin D)  John Locke
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Which of the following statements are true about Machiavelli’s statecraft?
1. End justifies means

2. State is sovereign

3. State should not maintain a strong army

4. Ruler can use double standards to politics.

A) 1,2,3and4 B) 3and4only

C) 2and3only D) 1,2and4only

Felicific Calculus is an algorithm formulated by:

A)  Ramanujan B)  Jeremy Bentham

C) G.W.F. Hegel D)  Theodore Adorno

Who commented, ‘political power grows out of the barrel of the gun’?
A)  Mao Tse Tung B) Lenin

C) Friedrich Engels D) Karl Marx

Author of ‘Guilty Men of India’s Partition’:
A)  Ram Manohar Lohiya B) Lord Mountbatten

C)  John Ruskin D) Ramachandra Guha
The concept of ‘Ideological State Apparatus’ developed by:
A)  Antonio Gramsci B)  Louis Althusser

C)  Robert Nozick D)  John Rawls

Which of the following facts are true about M.N.Roy?
1. Member of Drafting Committee

2. New Humanism

3. The idea of Constituent Assembly was proposed

4. The founder of Mexican Communist Party

A) 1,2,3and4 B) land3only
C) 2,3and4only D) 1,2and4only

Who said “all men are intellectuals but not all men have in society the function

of intellectuals™?
A)  Robert Nozick B)  Antonio Gramsci
C) Ram Manohar Lohiya D) John Rawls

“The world has enough for everybody’s need but not enough for one person’s

greed”. Who said so?
A)  Jayaprakash Narayan B) M. NRoy
C) Ram Manohar Lohiya D) M. K. Gandhi
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Who said, “The substitution of a proletarian for capitalist state is impossible
without a violent Revolution”.

A)  Karl Marx B)  Stalin

C) Lenin D) Mao Tse Tung

The Atrticle of Indian constitution which deals with diminishing and increasing
the area of any state:
A) Article356 B)  Article3 C) Articlel D) Article 11

The constitutional amendment which stipulated that the strength of Council of
Ministers including the Prime Minister shall not exceed 15% of the total
strength of the Lower House?

A) 92 B) 99" c) o1t D) 96"

The Article of Indian constitution which Ambedkar considered as ‘heart and
soul of the constitution’?
A) Article21 B) Article352 C)  Articlel7 D)  Article 32

Assertion (A): Fundamental Rights are meaningless in the absence of effective
machinery for its enforcement.

Reason (R):  Article 32 and 226 respectively empowers Supreme Court and
High Courts to issue writs.

A)  Both A andR are true and R is the correct explanation of A

B) Both A and R are false

C) Both A and R are true but R is not the correct explanation of A

D)  Aistrue but R is false

Article 110 of Indian constitution is about:

A)  Disqualification of parliament members
B) Money Bill

C)  Joint session of the Union Parliament
D)  Pocket Veto of Indian President

Choose the state which does not have Legislative Council:
A)  Odisha B)  Telengana
C) Bihar D)  Maharashtra

The Governor of a State can reserve the bill for the consideration of the
President under Article:
A) 256 B) 252 C) 356 D) 200

Sarkaria Commission was set up in:
A) 1983 B) 1984 C) 1982 D) 1985
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Who among the following called Indian party system as ‘one party dominant
system’?

A)  Maurice Duverger B) Rajni Kothari

C) Myron Weiner D) S.M. Lipset

Which of the following is false about Election Commission of India?
A)  Conducts election to Legislative Assembly

B)  Conducts election of Vice -President

C)  Conducts election to Council of States

D)  Conducts election to Municipalities

Communist Party of India was formed in:
A) 1926 B) 1952 C) 1925 D) 1962

Assertion (A): Globalisation brought challenges to the nation states.
Reason (R): India experiencing regional disparities

A)  AandR are true but R is not the correct explanation of A
B)  Ais false but R is true

C) AandR are true and R is the correct explanation of A

D) Aistrue but R is false

Which of the following is related to electoral reforms?
A)  Punchhi Committee B) Dinesh Goswami Committe
C) Rajmannar Commission D)  Swaran Singh Committee

The advisory jurisdiction of Indian Supreme Court is under Article:
A) 132 B) 131 C) 143 D) 148

Assertion (A): Indian voting behaviour is influenced by caste, religion and
regional sentiments.

Reason (R):  Indian election process is influenced by regional political parties.

A) Both AandR are true and R is the correct explanation of A
B) Both A and R are false

C) AandR are true but R is not the correct explanation of A
D) Aisfalse but R is true

Eleventh Schedule added with Indian constitution by ----- Amendment Act.
A)  52M B) 83" c) 73" D) 74"

The concept of ‘détente’ denotes:

A)  Defending biological weapons

B)  Cooperation in navel technology

C)  Acollective security measure under UN
D)  Easing tension between nations
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Fourteen points programme were proposed by:

A)  Henry Kissinger B)  Theodore Roosevelt
C)  Woodrow Wilson D) David Lloyd George
The author of ‘Politics among Nations’:

A) Inis L Claude B) Hans.J.Morgenthau
C)  Harold Nicholson D)  Clive Archer

The Cuban missile crisis occurred in:
A) 1962 B) 1961 C) 1960 D) 1963

Assertion (A): Comparative politics is the scientific analysis of political system.
Reason(R):  The objective of comparative politics is to develop verifiable
body of knowledge about government and politics

A)  AistruebutRis false

B) Both A and R are true but R is not the correct explanation of A
C) Aisfalse butRis true

D) Both AandR are true and R is a correct explanation of A

Match List | with List Il

List I (Name of Theory) List 11 (Exponents)

a. Game Theory 1. Oscar Morgenstern
b. Communication Theory 2. Karl Deutsch

c. Depenendency Theory 3. Arther Gunder Frank
d. Decision Making Theory 4. Richard C Synder
A) a-3,b-1,c-4,d-2 B) a1, b-2,c-4,d-3
C) a-1,b-4,c-2,d-3 D) a-1,b-2,c-3,d-4
Author of ‘Globalisation and Its Discontents’:

A)  Jeffrey A Friden B)  Joseph Stiglitz
C)  Peter Singer D) Karl Polanyi

Which of the following is not a feature of British constitution?
A)  Evolved B) Flexible C)  Written D)  Unitary

Which of the following is/are true about French Constitutional Council?
1. Decides constitutionality of the parliamentary acts

2. It consists of nine members

3. It approves French political parties

4. It examines electoral petition

A) land3only B) 3only
C) 1,2and4only D) 2and3only

10
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The constitution of which following country bears ‘Democratic Centralism’ as a
feature:

A)  China B) France C) USA D)  Britain

Who commented that, ‘the cabinet is a hyphen that joins the buckle that binds the
executive and legislative departments together'?

A) John Marriot B) Bagehot
C) Lowell D)  Ramsay Muir
Match List | with List I
List | List 11
a. The Law and the Constitution 1. Ramsay Muir
b. Reflections on French Government 2. Harold J Laski
c. How Britain is Governed 3. Edmund Burke
d. Democracy in Crisis 4. AV Dicey
A) a-4,b-3,c-2,d-1 B) a-1,b-3,¢c-2d4
C) a4,b-3,c-1,d-2 D) a-3,b4,c-2d-1

Assertion (A): Climate change badly affecting economic growth of the country.
Reason(R):  Climate change and extreme weather have deep impact on the
voting behavior.

A)  Aisfalse but Ris true

B) Both A and R are true but R is not the correct explanation of A
C) Both A and R are true and R is the correct explanation of A

D) Aistrue but R is false

The process of political manipulation of electoral district boundaries with an
intention to create undue advantage for a political party is known as:

A) Referendum B) Filibuster

C) Lame Duck D)  Gerrymandering

The principle of “‘Checks and Balances’ is effectively applied in:

A) Nigeria B) India C) USA D) China

Which among the following is the largest legislative body in the world?
A) Nigerian National Assembly

B) Brazilian National Congress

C) US Senate

D) Chinese National Peoples Congress

‘Droit administratif’ is related to:
A) Nigeria B) France C) Switzerland D) Brazil

11
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Which of the following are the limitations on national power?
1. International organisation

2. Collective security

3. International Morality

4. World Public Opinion

A) 1 and 4 only B) 2and4only
C) 2 and 3 only D) 1,2,3and4
The concept of ‘end of ideology thesis’ is associated with:
A) Raymond Aron B) Daniel Bell

C) Hegel D)  Quincy Wright

“Formulation and implementation of a group of principles which shape the
behaviour pattern of a State while negotiating with other States to protect or
further its own interests” is called:

A) Ideology B)  Detente

C) Foreign Policy D) War

Assertion (A): Cold war caused arms race which subsequently affected global
peace.

Reason (R):  UN Security Council was effectively maintained international
peace and security during Cold war period.

A) Aistrue and R is false
B) Both A and R are false
C) Both A and R are true and R is the correct explanation of A
D) Aisfalse and R is true

The term ‘Cold- War’ was coined by:

A)  Desmond Domelly B) Bernard Baruch

C)  Paul Seabury D)  Frederick .L. Schuman

‘Pattern of competition” and ‘pattern of direct opposition’ are two patterns of:
A) Collective security B) Diplomacy

C) Balance of power D)  Trusteeship

Who has been called the “father of international law’?
A) Woodrow Wilson B)  Winston Churchill
C) Roosevelt D)  Hugo Grotius

‘Eisenhower Doctrine’ was intended to the:
A) Containment of Communism

B) American policy of demography
C) US military intervention in Cuba
D) US policy of migration

12
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SAARC was founded in:
A) 1958 B) 1987 C) 1995 D) 1985

Which of the following is an example of South- South Cooperation?
A) G-8 B) WIPO C) G-77 D) NATO

In 2015 United Nations Climate Change Conference was held at:
A)  Paris B) Doha C) Geneva D) Rio de Janeiro

Match List | with List 1
List | (Organisation) List 11 (Head Quarters)

a. FAO 1. Geneva

b. ILO 2. Paris

c. IMF 3. Rome

d. UNESCO 4. Washington DC

A) a-1,b-3,c-4,d-2 B) a-3,b-1,c4,d-2
C) a-2,b-4,c-1,d-3 D) a-3,b-1,c-2,d-4

Name of the country from which *Arab spring’ started:
A) Libya B)  Tunisia C) Bahrain D)  Egypt

The head quarters of BIMSTEC is at:
A)  Colombo B) Naypyidaw C)  Mumbai D) Dhaka

The country which leased the Hambantota International Port to China:
A)  Myanmar B) SriLanka C) Maladives D)  Bengladesh

“Public Administration consists of all those operations having for their purpose
the fulfillment or enforcement of public policy”. Whose definition is this?

A)  L.D.White B) Waldo

C) Luther Gulick D)  Marshall E Dimock
The acronym ‘POSDCORB’ propagated by:

A)  L.D.White B) F.W. Riggs

C) Luther Gullick D)  Albert Waterson

‘Towards a New Public Administration: The Minnowbrook Perspective’ is a
work edited by:

A) U.L. Goswami B) Paul H Appleby

C)  Woodrow Wilson D)  Frank Marini

The chairman of the Public Accounts Committee (PAC) is appointed by:

A)  Prime Minister B)  The President
C)  Speaker of Lok Sabha D)  Chairman of Rajya Sabha

13
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Assertion (A): Local administration is an effective mechanism to solve local
issues of development.

Reason (R):  Decentralization of power to local government reduces the
burden of central and state governments.

A)  Both A and R are true and R is the correct explanation of A

B)  Aistrue and R is false.

C) Both A and R are true but R is not the correct explanation of A
D) Both AandR are false

Who among the following is related to Hawthorne experiment?
A)  F.W. Taylor B)  Louise D Brandies
C)  Woodrow Wilson D)  Elton Mayo

Match List I with List I

List | List 11

a. Politics and Administration: A Study in Government 1. F.W. Taylor

b. Principles and methods of Scientific Management 2. Paul. H. Appleby

c. Development as Freedom 3. Frank J Goodnow
d. Big Democracy 4. Amartya Sen

A) a-3,b-1,c-4,d-2 B) a-1,b-3,c¢4,d-2

C) al,b-2,c-3,d4 D) a-3,b-1,c-2,d-4

Ecological approach to public administration is related to:

A)  Vincnt De Gourney B) Fred Riggs

C)  Thomas Carlyle D) M.P Follet

National Academy of Administration is located at:
A)  Simla B) New Delhi C) Hyderabad D)  Mussorie

Independent Regulatory Commission (IRC) is an organisational set up of:
A) USA B) China C) Britain D) France

The Atrticle of the Constitution which specified the establishment of the Union
Public Service Commission of India:

A)  Atrticle 325 B)  Article 335

C)  Article 315 D)  Article 322

The concept ‘Gang Plank’ refers in Public Administration as:
A) Disciplinary action

B) Level Jumping

C) Informal training

D)  Rejection of Finance Bill

14
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Dr. B.R. Ambedkar had addressed the ----as the most important officer under
the Constitution of India, as the guardian of the public purse, and it is his duty
to ensure that funds from the Consolidated Fund of India or of a State are not
spent without the authority of the appropriate legislature.

A) Reserve Bank Governor B)  JPC

C) Attorney General D) CAG

120. Which of the following ensures transparency in administration?
1. Ombudsman 2. Lokpal
3. Lokayukta 4. Right to Information Act
A) land4only B) 1,2,3and4
C) 3and4only D) 2and3only
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